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Answer all questions
1. Australopithecus were found to be
A} herbivorous (B)] carmivorous
C) omnivorous (D) only fruit ecaters
31 =grerieruees (Australopithecus) fem
[A) e (B) TR
(C) *25= (D) DYRATE T — TS

2. When urine contains red blood corpuscles, the condition 1s known as

(A} ketonuria (B) glvcosuria

(C)] hematuna (D) uremia
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(A) ferbrerTfam (B) Srsrsyfam
(Cy fewpfam ‘D) WETatsm

3. Which of the following organelles is found in both prokarvotic and eukaryotic
cells?

(A} Nucleus IB)] Ribosome

(C) Mitochondria (D) Endoplasmic reticulum
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4. which of the following has more athinity for haemoglobin™
A) €O, (B) O,

(C) CO (D) NH,

g fsfefes @Ela Frmface sfs upfe cafuo
(A) CO, ‘B) O,

(C) CO (D) NH,

5. Which pigment helps in opening of stomata in the daylight?

(A) Phytochrome (B) Carotene

(C) Phycobilin (D) Plastocyanin

¢! fotafRs @m 2ge sid farwa cwma oBrar syers smemm @0
(A) =EOIHR

(C) wrRrafafers

6. What is the lifespan of T-cell?
(A) 4-5 months (B) 4-5 years

(C) 4-5 weeks (D) 4-5 days

Sl T-(omers Wy ™

(A) 4-5 ™ (B) 4-5 qw%
(C) 4-5 Wegrg (D) 4-5 f=
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7. Which one 1s used as vector in gene cloning?

(A) Intron (B) Exon

(C) Plasmid (D) Transposon

i foq @fe-aa w1 @S o9 oo apres a0

(A) %0 (B) Q%
) wrtEy (D) Greme

8. Which organic acid is produced during fermentation?
(A) Citric acid (B) Oxalic acid
(C) Lactic acid (D) Propionic acid

w1 WHIG ATHUN Bewn 2ma antisf sa
(A) I =S (B) wafas wnis
(C) =mrafs smis (D) coferafae =mfwrs

9. If a man with Blood Group ‘A" marnes a woman of Blood Group ‘B’, then their
offspring may have the Blood Group of

‘A) ‘O’ only

(B) ‘A’ and ‘B’ only

(C) ‘A’, ‘B’ and 'AB’ only
(D) ‘A’, 'B’, '‘AB’ and 'O’

S A’ araa efers @ afe ai B aten lage el wieene faanz v, sem wee
s fagfefee o e oofvge o oma?

(A) waura ‘O i
(B) &qura ‘A’ 6 ‘B ol9
(C) wywra ‘A", ‘B’ 6 'AB’ (i

(D) 'A’, ‘B, ‘AB’ & ‘O’ (¥
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10. Whiach part of haman brinn s meorge developed traom other part™
(A) Optic lobe (13) Coerebsedliam

(C) Cerebrum (1)) Medulls

201 {T+THq 12 7 G SN EE delflel] %™’/ ®d4 oreile vima %Lgre
(A) wfbs cora (13) erjuiygm (ersems,

‘C) s¥afyy ( ifagra) ([)) W3

11. Pacemaker and Pace setter of hearts are
(A) SA node and papillary muscles
(B) SA node and AV node
(C) SA node and bundle of His
(D) SA node and Purkinje fibers

)1 Fefemaa ooTES™ 8 oo Ol oW
(A) SA #TE 3 emierenfa coffm
(B) SA =TS 8 AV TS
‘C) SA =13 8 frwa afew
(D) SA 715 8 *mfsfe oy

12. Helicobacter pylori is responsible for creating which disease?
(A) Bronchitis (B) Liver cirrhosis

(C) Peptic ulcer (D) Jaundice

Syt ruferaranaa Anoafa cae cnsfh ahn?

(A) ZE2HH ‘}) frzm Srafrr
(D) ®fex

(C) oohE oA
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13, Which one of thye lollowing s asymmetnc flower/

(A) vt

(C) Vhilvseous

(13) Chitorua
(1)) Crotalaria

201 [t (e paafh wywiwry

(A) 8L (Canna) (B) werarfers (Clitoria)

(C) &9 (Hhinseus) (D) weHA (Crotalaria)

14. Function of osteoblast is
(A) destruction of bone
(13) scecretion of caleitonin
(C) deposition of it in bone

(D)) formation of new bone and its maintenance

Y81 SWhLsant 9a @re 2o
(A) SHig a0 @al
(13) enabihiia-a-a4q msaa s
(C) wigre (uw Ywy a4

D) «pa iy @1 9133 8 @WANTS T2

15. What 1s known as Ecotone?

(A) Intermediate region between two ecosystems

(£3) Study about ecosystem
(C) Apgregation of ecosystem

(1)) Stabilization of ecosystem
y@1 Rrarhia Weyre £ ST He )
(A) %0 Bramimbu (41gey) - 949 umad) yam
(B) agSTgs *Terol-
(C) argesga erpsIan
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16. Find out the wrong answer from the following

(A) ER forms the skeleton of cvtoplasm
(B) Lysosome secretes enzyme and digests food within cell
(C) Centrosome conserves all foods of cell

(D) Golgi body controls secretion of cells
dYoi ITatere ure pm Yal ¥ow aw =2
(A) FEUTENR IR R a7e ER
(B) #1¥DIDMR Teome wae sra gz aTwE T wTe] wigere &R

(C) CTRIOM (FT™a ¥ ey a7e

(D) TR w2y Fage 372 s =y

17. What is the name of the nerve associated with heart?
(A) Oculomotor (B) Trochlear

(C) Spinal accessory (D) Vagus

291 ZRINTHA TS TH LT AN &

(A) wfermmaha (B) Jefwore
(C) »m3_m@ WA (D) ==

18 The maximum amount of blood, ejected from each ventricle per minute is

called
(A) cardiac index (B) stroke volume
(C) minute volume (D) cardiac output

Yo ofy G xTe ofE GRS @ AW W 1H 2w w>, = e

(A) T% 553 3) ¥ »frae
(C) B e (D) 7% S
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19. Which part of the cell contains anthe yinin

(A) Chloroplast

(C) Leucoplast

91 CMNANIPIANAA (M (Pl e AP )

(A) GPILAITPH

) Al

light microscope.
(A) 10A

(C) 30A

(13) Chromoplast

(1)) Vacuole

(13) COILHIE,

(1)) o499

(B) 300 A

(D) 3000 A

Find out the best wavelength of light to get maximum resolving power in

301 WA S gy idife [qmafor Wl WEGia s WiHTaa Segld van 7wl oe

T4 |
‘A) 10 A

(C) 30A

21. Sex-factor in bacteria] body is

(A) s-RNA

(C) replicon

(3) 300 A

(D) 3000 A
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, uble an : .
(A) Vitamin? d acts as anti-oxidant?

| * B) Vitami
(C) Vltamin E ( ) itamin D

(D) Vitamin A

(A) National Park-_ (B) Sanctua;'y

(C) Zoological Garden (D) Botanical Garden

24. Mountain sickness occurs at high altitude, because of

(A) blood contains more C02

(B) air contains less CO2
(C) activity of haemoglobin diminishes

_(D) partial pressure of oxygen decreases

"8 wfex Twoow AIdSANE! 2T, A
(A) IE wfsaeE CO, A
B) *Ts 3w CO,, 4=
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25. Which one is the longest cell in animal body?

(A) Osteocyte (B) L}-mphOC}'fC‘

(C) Ncuron/ (D) ChmmatOPhom

2! IR TS ST @ el

(A) S (B) TR
1C) Fewm (D) GFRTRIRA

26. Which hormone is called ‘Fight ang Flight’ hormone?

A
el (B) Thyroxine

(C) Vasopressin (D) Adrenaline
WS e e s gy I I 3O
JA) a. fe, a%p, (ADH)

(C) Smyhe

(B) an¥xfas
(D) s,

27. Which of the following procedures is used for production of Test-Tube baby

(A) GIFT [Gamete Intrafallopian Transfer]
(B) ZIFT |Zygote Intrafallopian Transfeg'
(C) ICSI [Intracytoplasmic Sperm Injection)

(D) 1UI [Intrauterine Insemination]
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28. Wwhat do you understand by syngamy?
(A} Fusion of cytoplasm
(B} Union of similar two spores
(C) Union of two dissimilar spores

T T
(D) Union of two gametes

2wl PR It § @i
(A) FADBIHEER s
(B) @2% #o| 7' oot R
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29. Which of the following is responsible for ozone-layer depletion?
(A) PAN (B} CO,

(C) CFCS: (D) Combustion of Coal

15| SUOR A 3w 2eqR T fAeA (Wi WA

(A) PAN (B) CO,
(C) CFCs (D) FHH 7L

C

30. Which one of the following is essential for genetic engineering?
(A) RNA synthetase | (B) DNA ligase

(C) Reverse transcriptase (D) DNA polymerase

co| e @ coEte MefAuias-a weitazd 2

(A) RNA PRCIts (B) DNA #H1%050
(C) faerf GretaF-b= (D) DNA «fzamzs
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